m Mm‘m VDWDY\Z/l Unit 2 Test
FHHM D\Ae mu\ﬁdu/q ﬁV“ ‘af‘ﬂf\/-l .

correct answer.

1. Olivia hag 1astic blocks. She . 4. 7Zubin is having a party. He plans _
wants to sort hem nt to give party favors to each of hi
w many blocks Each guest will ge€an equal
will she have in each pile? share of balloons and ar

antl 45 marbles)in all, how many
favors will each guest receive?

® 15 Q=0 = Olmncme

12
@ 1 AL+ = 5 marbly
| 9 | - 14 ot
2.grmer Dlantﬂ%f corn with El . r@
13 plants in each row. How man ' :
corn plants doesh%,avi in all?> \7/(9 A2
_ 5. Which expression can be used to find
% the product 31 X 19? = o4
® 144 X 1% | @ 621+ %9 X+
225 20 | (g9 = 48 |

on 130 | (Ofeih fhEe

301°1o)+ 30@9
(1 +.10) + (1+9) |

3. There are(875 pagedin a dictionary. @ (30 yé% (305%) +
Which is the best egtimaté_for the mea (10 <J0) + (1% 9) T
number of pages ‘(DW
dictionaries?
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aﬂor Iunch. How 'u oes she ride

in all? |
10 kilometers 15'5%4
10.43 kiometers T 1.0% -

@ 1153 kilometers

1.5%
@ 11.15 kilometers

7. There ard 40 rows of seatdin a
theater. There areqez
@HOW many seats are there ip all?

84 —
840 N 7 |
© 822 Y40 7}_2__4_)0

8. The students at Mona’s schaol make
4,389 paper flowerso decorate
7 floats n the town parade. Each float
will have the same number of flowers.
How many flowers will be used on

(€achJloat? (ﬂ Z"’ _

'/W

613
© 644 —4 22
l%
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9. Soni drawé 7 flower plangs. Eagh_0 anf=
plant has (2 flowers) and ey,
has 4 petals) How many petals does oS
she draw in all?

® | flower =4 petnls
84
® 26 2 x4 4epenls

© 112

w o all

10. Use the array to divide 19 + 4.

[ i B 1
.
HENE
Ll e

R m
What is the quotient and the
remainder?
® 3r4 E g
. 5 14 4
@ 413 3
5 r1 “0

I3
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11. Lee uses the Associative Propert 13. Mr. Marcos buy
200 to rewrite (9 X 5) X 200 so it will
X 4% be easier to solve. Which expression ‘much money does he spend on the i
m could be the one Lee writes? tickets? 7l i
® (9|>< 00) + (5l>< 200)= 2900 @ $420 ZO':) |
® (0% 2) + 105%5)=5ig ® 5805 © $810 5——5—’“— :
@ vxc honao Noxl
(3><§5><5) (2><10><10)1QOC>0 i
| - DukSdistnputive property: o _ g
ﬁ%OO\MhV@ \WUPQ \\UM O 0) mamm@m Wthhl expresrs?mn makes this - ‘% : ‘
W A0S, Wt A1, BCTOTS § [y fwapel - Eauaton e, F’;I/é gl
12. Which expression shows a wa 1 15><15—, 50 |
multipl 5108 ing@!ace vaiﬁé : it
anud i panded form .S ® (106}95) + (10 X 15)’2@ 2.-7—57 | |
; 5 |
&(3:255 +(3§1 3229)‘45 1 t “'OQS)“OO |
>i<5(53%000)+(3 ><8’Q!%O)+ v/ @OW@*' 5’X15)‘"‘"2—
3%9) “I15627 5 W (10X10) + (5% 5) =125 %
(3,%.500) + @ Z10) + ( SQQ)-W
M (3 x E8Bo) + 5 %ﬁ‘go |
(Tg9) 2.7 kel 8
% 15. It takes Kellcnds to run 8l
7 a race. It takeg28.92 skconds for Jan H
“ —— 0 run the race. How many seconds
3% K000 5109 ‘
, \OO X 2 . ohffau\w
5 X T T 55.01 seconds
3)( OI \5}5 Z L 2.17 seconds 9
| OJXW\G{M forpnL: 1.83 seconds ZQN'L
\% % DI04=paor | (B 2wwona P09
|00+ 0\ 1453
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16. If there &re 71 calories in Dslice of

bread, how many calories are in
/‘ \ 5 slices of bread?

W7 @ 121 315
%o @D oo

| 17. Fran(rounds 422 1o the nearest 100 -
v to estimate 3 X 422. What would her
i) T e

4_7‘2 400 estimate be?
)
(@ 1200 )

. - ® 120
40% 1,500 ® 1,000

18. Look at the model. %

i "\"7%(;’;_7%
L b %13 =19
I U= (p =132
1912 =l
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Which equatibn is shown by the

. maodel?
I ® 6,018 + 6 = 1,003 !\2
i 618 +~ 6 =103 A b
iy e
1 1.860 -~ 6 = 310 '
| © 1%
il ‘ @\I’o?here

i

\
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19. Hannah ii rectangular floor She
pulé 84 tiles in place, with(7 tiles in

each row. How many rows of liles

—_—

does she make?
7
14
© 10

20. Principal Shaw wants to give

(4,860 sticker 19 teachers)If
she gives each teacher the same
number of stickers, how many
stickers will each teacher get?

Record your answer and fill in the
bubbles on the grid. Be sure to use
the correct place value.

5410 .
I
(0| 9 |4%0
egle | 4o

3bd,

——————

0O
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21. Ms. Harry makes wooden toys and 24, A basketball weig @
cornhusk doll raft fair she—— What is the weight, inotinces,
SellAB tays for §6 ach)and35 doll) | of 16 basketball®
dﬁﬁﬁ!‘ii'

ow_much monev does

Name

she earn at the fai ?3 ' Record your answer and fill in the
: bubbles on the grid. Be sure to use 3
® $556 AH"’ - the correct place value. , i
210 ® 276 N O 27
Xl

kZ@O © $460 &7/"(0 10Y%

550 &
%990 @ $582 X%%

& /—):‘@60\0\ \s

22. Jeffery knows that 34 X 1 = 34.

What is the product 34 X 1@
b

@ 340 | 25. Use the model—"

@EQROEOBAB|N

EREEREL CEES
R FEEEE N

Which expression is equal to 48 =+ 37

3 33)—(18@'3)“4

23. Mrs. Giaanuy_S,_aDﬂ_Sﬂliﬁ_K‘ | @ 3 %3) 18 3 =l “0
One week, h@ a painting for ™

“$22,905. Alfew w later, she sells

@ sculpturedfor $9,860. ich

| (
(
(30 < 10) (18 = 10) 4%? A
©0F2)+ (18 2)= 24 ol
)\\W more does she earn_from the painting
A d( than from the sculpture'?

S @ sranss Sl 48+ 2= ||

B o .
“(® $13,735 Yq @60 (b@—f—%) +(18=2 )" |,
$12,645
@1%046
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26. Use the model.

50 2
10 500 + | 20 | 520
6| Boo 4| 12 ,ﬁ\

f &
What is the produ@ 3

® 822 %Z -

520 Ml \/
@ %l

® 1,012 '

27. Whicl,f partial producf,%? can Yan add
to find the product of 15 X 18?

}ﬁ) 100, 40, 8, 5= )52

&) 10, 80, 50, 4= |44
@ 100, 80, 50, 400> (,20

—

S e,

4 | [O “5 10 l&
2 /06 4 xe 15

=70

)
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28. Which equation shows a way 1o f(w"@% )
the Loduc;t 6 X 2437= | 45%

o425 . ?

6 ) = 1,458

600 X 3) + (60 X 4) +
6 % 2) =2052

6 W) + 6 %Y0) +

6 '¥%0) = 540

6052 2) + (605 4) +
60, 30) = 2,160

—~ e~ —— — ,—.._,—..

E WL

29. A mountain climber ig7at 14,93

feet ab e sealevel She €limbs u ;
thék 2,148 fect. Phow far above
SE‘.EI Ieel is she now?

A) 16,173 fee 17,083 feet

® 17.183fcct; (D) 16,083 feet
14455
2y 14 B
| 71,08%
30. An outdoor concert space seats

5,135 peopls. If every seat is filled
f64 nights 6ha concert series,

how many people attend the

concerts in all?
20,420
@ 20540

5.\1%5
) 4
20540

20,520
® 21,400
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